Date: 17.12.2018

<u>Cancellation of locations in the Advertisement published in the website www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by IndianOil on 25.11.2018.</u>

An Advertisement was published by IndianOil on 25.11.2018 in the website www.petrolpumpdealerchayan.in seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State of **Andhra Pradesh** with Sl. no 1 to 1292

The Locations with SI no as mentioned below, stand cancelled in Andhra Pradesh:

Locati on SI. No.	Name Of Location	Revenu e District	Type of RO (Reg ular/ Rural)	Esti mat ed mo nthl y Sale s Pot enti al (MS +HS D) in	Cat ego ry	Typ e of Site (CC/ DC/ CFS)	Min imu m Fro nta ge of Site (in M)	Min imu m Dep th of Site (in M)	Min imu m Are a of site (in Sq. M.)	Esti mat ed wor king capi tal req uire men t for ope rati on of	Esti mat ed fund requ ired for deve lop men t of infra stru ctur e at	Mode of selecti on (Draw of Lots/B idding)	Fixe d Fee / Min bid am oun t (Rs in Lak hs)	Sec urit y Dep osit (Rs in Lak hs)
22	ANKIDEDOV	ANIANIT	PoI	Kls		CEC	45	A.F.	202	RO (Rs in Lak hs)	RO (Rs in Lakh s)	Drow	0	2
33	ANKIREDDY PALLI ON NH	ANANT APUR	Regul ar	150	SC	CFS	45	45	202 5	0	0	Draw of Lots	0	3
77	KATAVARAM VILLAGE ON SEETHANAGA RAM MAIN ROAD	EAST GODAV ARI	Regul ar	150	SC	CFS	45	45	202 5	0	0	DRAW OF LOTS	0	3
98	ANGALLU- CTM ROAD (WITHIN 4 KM FROM ANGALLU), ANGALLU MANDAL	CHITTO OR	Rural	48	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
146	EEDIGAPALLI (NOT ON NH/SH),	CHITTO OR	Rural	48	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2

	EEDIGAPALLI													
	MANDAL													
151	VIGILAPURAM (NOT ON NH/SH), VIGILAPURAM MANDAL	CHITTO OR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
212	THUMALA GUNTA MAIN ROAD TO CHERLOPALI NOT ON NH	CHITTO OR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	4	3
225	VIRUPAKSHIP URAM (NOT ON NH/SH), VIRUPAKSHIP URAM MANDAL	CHITTO OR	Rural	48	OPE N	DC	20	20	400	12	30	Draw of Lots	5	4
267	JALADURTHI TO DHONE, NH44 ON LHS TOWARDS DHONE	ANANT APUR	Regul ar	150	OBC	DC	45	45	202 5	25	75	Draw of Lots	15	4
277	APPARCHERU VU VILLAGE (EITHER SIDE OF VILLAGE WITHIN 3 KMS) ON BATHALAPALLI TO MUDIGUBBA ON LHS ON NH42	ANANT APUR	Regul ar	100	OPE N	DC	30	30	900	25	60	Draw of Lots	15	5
286	CHINNATEKUR VILLAGE TO CHETLAMALLA PURAM ON NH 44 ON LHS	KURNO OL	Regul ar	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
354	JONNAGIRI, ON GOOTY - TUGALI ROAD	ANANT APUR	Regul ar	100	OPE N	DC	30	30	900	25	60	Draw of Lots	15	5
477	CHINTHAYAPA LEM , PITTLAVANIPA LEM MANDAL	GUNTU R	Rural	46	OPE N	DC	20	20	400	12	30	Draw of Lots	5	4

605	MANGAMURU DONKA OLD NH 16 TO MANGUMURU ROAD WITHIN 2 KM	PRAKA SAM	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
634	NAIDUPETA MUNICIPAL LIMIT (NOT ON NH)	NELLOR E	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
780	CHERUKKUPAL LI TO CHANDOLE ON NH-216	KRISHN A	Regul ar	150	OBC	DC	45	45	202 5	25	75	DRAW OF LOTS	15	4
796	DORNALA TO SRISAILAM ROAD WITHIN 1.5 KM (NH 765) FROM DORNALA ARCH.	PRAKA SAM	Regul ar	150	OPE N	СС	45	45	202 5	25	10	BIDDI NG	30	5
797	BETWEEN KM STONE 1236.00 TO 1236.900 ON NH -16 AT YEDUGUNDLA PADU - TOWARDS CHENNAI	PRAKA SAM	Regul ar	150	OPE N	СС	45	45	5	25	10	BIDDI NG	30	5
802	VINUKONDA TO TRIPURANTHA KAM (NH 544D) FROM 31 KM STONE TO 32 KM STONE (RHS)	PRAKA SAM	Regul ar	150	OPE N	CC	45	45	202 5	25	10	BIDDI NG	30	5
858	WITHIN 1 KM FROM TATICHERALA MOTU CENTER ON KOMAROLE ROAD ON LHS SH 56	PRAKA SAM	Regul ar	100	OBC	CC	30	30	900	25	10	BIDDI NG	30	4
896	Addanki (Towards Narsaraopet within 1 km	PRAKA SAM	Regul ar	100	OPE N	DC	30	30	900	25	60	DRAW OF LOTS	15	5

from Bhavani Centre)		
Centre)		
911 SAVALYAPURA GUNTU Regul 100 OPE DC 30 30 900 25 60 DRAW	15	5
M VILLAGE, R ar N OF		
SAVALYAPURA LOTS		
M MANDAL		
1138 Eluru (1 Km VISAKH Regul 100 OPE DC 30 30 900 25 60 Draw	15	5
from APATN ar N of Lots		
Satyanarayana AM		
theatre) on		
Chataparru		
road Politic Wishing Politic Ope Co. 20, 20, 20, 25, 40, Piddio	20	-
1139 Bobbili VISAKH Regul 150 OPE CC 20 20 400 25 10 Biddin	30	5
Industrial Area APATN ar N g		
(with in 2KM) AM ON SH 36		
1140 From Rajam to SRIKAK Regul 100 OBC DC 30 30 900 25 60 Draw	15	4
Perumali on ULAM ar of Lots	13	1
SH 36		
TOWARDS		
RAMABHADRA		
PURAM		
1141 Mandapeta EAST Regul 150 ST CFS 45 45 202 0 0 DRAW	0	3
Muncipal GODAV ar 5 OF		
limits ARI LOTS		
1142 Palakole town EAST Regul 150 OPE CC 45 45 202 25 10 Biddin	30	5
within GODAV ar N 5 g	30	
municipal limit ARI		
1144 Bommuru VISAKH Regul 150 OBC CC 20 20 400 25 10 Biddin	30	4
towards APATN ar g		
Vemagiri AM		
Junction (LHS)		
from 913 kms		
to 915 kms)	0	3
	0	3
Railway over APATN ar OF Bridge to AM LOTS		
peddapuram LOTS		
Rajahmundry		
ADB road		
junction LHS		
1146 Madhurawada EAST Regul 150 OPE CC 45 45 202 25 10 Biddin	30	5
- Near GODAV ar N 5 g		
Silparamam ARI		
on NH - 16 (
Vizag -		
Srikakulam		
Road LHS)		

1147	KOVVUR ON	EAST	Regul	100	OPE	DC	30	30	900	25	45	Draw	15	5
	MAIN ROAD	GODAV	ar		N							of Lots		
	BETWEEN POLICE	ARI												
	STATAION													
	AND BUS													
1150	Pitapuram to	EAST	Regul	150	SC	CFS	45	45	202	0	0	DRAW	0	3
	Panduru village on NH	GODAV ARI	ar						5			OF LOTS		
	216 on Either	ANI										1013		
	side of the													
1152	Voppengi to	EAST	Regul	100	OBC	DC	30	30	900	25	60	Draw	15	4
	Gara on SH	GODAV ARI	ar									of Lots		
1162	Kakinada	SRIKAK	Regul	100	OPE	DC	30	30	900	25	60	Draw	15	5
1102	lighthouse to	ULAM	ar	100	N		30	30	300	23		of Lots	13	
	GSPC gate				PH									
1168	Achanta to	VIZIAN	Regul	100	OPE	DC	30	30	900	25	60	Draw	15	5
	achanta Vemavaram	AGARA M	ar		N							of Lots		
	on SH													
1181	Bhimili to	VIZIAN	Regul	100	SC	CFS	30	30	900	0	0	DRAW	0	3
	Tagarapuvalas a Road not on	AGARA M	ar									OF LOTS		
	NH (on Either													
4407	Side)	MEST	Descri	400	ODE	D.C.	20	20	000	25	60	Domini	4.5	-
1187	From Chilakkapalem	WEST GODAV	Regul ar	100	OPE N	DC	30	30	900	25	60	Draw of Lots	15	5
	NH Jn to	ARI												
	Ponduru (On													
1203	SH 36) With in 5KM	WEST	Regul	100	SC	CFS	30	30	900	0	0	DRAW	0	3
	Khadgavalasa	GODAV	ar									OF		
	Jn on SH 37 (either side)	ARI										LOTS		
1213	Kantheru to	VIZIAN	Regul	100	OPE	DC	30	30	900	25	60	Draw	15	5
	Juttiga on SH	AGARA	ar		N							of Lots		
		M												
1238	Bobbili Industrial Area	EAST GODAV	Regul ar	100	SC PH	CFS	30	30	900	0	0	DRAW OF	0	3
	(with in 2KM)	ARI	ai ai									LOTS		
	ON SH 36											_	_	
1239	From Rajam to Perumali on	EAST GODAV	Regul ar	100	OPE N	DC	30	30	900	25	60	Draw of Lots	15	5
	SH 36	ARI	u u		14							01 2013		
	TOWARDS													
	RAMABHADRA													

	PURAM													
1240	Mandapeta Muncipal limits	WEST GODAV ARI	Regul ar	100	OPE N	DC	30	30	900	25	60	Draw of Lots	15	5
1241	Palakole town within municipal limit	SRIKAK ULAM	Regul ar	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1242	KATAVARAM VILLAGE ON SEETHANAGA RAM MAIN ROAD	VIZIAN AGARA M	Regul ar	100	OPE N	DC	45	45	202 5	25	75	Draw of Lots	15	5
1243	Bommuru towards Vemagiri Junction (LHS) from 913 kms to 915 kms)	WEST GODAV ARI	Regul ar	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1244	samalkota Railway over Bridge to peddapuram Rajahmundry ADB road junction LHS	VIZIAN AGARA M	Regul ar	150	OPE N	СС	45	45	202 5	25	10	Biddin g	30	5
1249	Pendurthy to Sabbavaram on LHS	EAST GODAV ARI	Regul ar	100	OPE N	CC	45	45	202 5	25	10	Biddin g	30	5
1265	Mummidivara m to Bondaikodu on NH 216 ON EITHER SIDE	EAST GODAV ARI	Regul ar	150	SC	CFS	45	45	202 5	0	0	DRAW OF LOTS	0	3
1268	NARSIPATNA M town within Municipal limit	WEST GODAV ARI	Regul ar	100	OPE N	DC	30	30	900	25	45	Draw of Lots	15	5
1272	Kakinada Bhanugudi Junction to Karnamgari junction	WEST GODAV ARI	Regul ar	100	OPE N	DC	20	20	400	25	45	Draw of Lots	15	5

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 25.11.2018 remains unchanged.